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Design a 7-turn helical antenna that operates in the normal mode with circular polarization
at 915 MHz for an UHF RFID system. The circumference is constrained to be 25 mm.
Calculate the a) turn spacing (in wavelengths and in mm), b) axial length/helix height (in
wavelengths and in mm), ¢) length of a single turn (in wavelengths and in mm), d) overall
wire length (in wavelengths and in mm), ) pitch angle (in degrees), and f) the broadside
phasor vector electric field at a distance of 6 m (assume /[y = 12 A, explicitly enter all
known quantities and put in polar form).
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